ME311 | #U#g T

2023 £ Fk &
| HWO02
%023 P AT VLK)

) 7 P K



[\S]

ME311 AU+ | 5023 Fd ATl | 5%

HW 02.1

(1) £ AT, e LA &= 4360° 4 4R A W4m;
1LhE S g XAE BB A MR AFAT. (L EH
SEEN K 245 ) Aside link that can perform
a complete revolution is called a crank; a side link
that cannot perform a complete revolute 1s called a
rocker.

(2) () s AmpAy: SHL<P+Q, H Z 44T A HLLE,

(i) ¥ A AT A . STL<P+Q, H RZIEEAT 6948454
PEAMR. b REATF A MAR, B —ERATAFEAT;

M2 (ground)

() wm 77 f& pressure angle (iil) S IEAF LM : SHL<P+Q, H J4aAF69 54 H)
y:4% 3 4 transmission angle A PG, R FESHL >P+Q, AL<SHP+Q.
N F, (1) Double crank: S+L < P+Q (Grashof condition), and
(627) A the shortest link is the ground. (24

(11) Crank rocker: S+L < P+Q, and the shortest link 1s a
side link. In this case, the shortest link 1s a crank and
the other side link is a rocker. (2%)

(i11) Double rocker: S+L < P+Q , and the shortest link is
the coupler. Or S+L >P+Q, while L<S+P+Q. (4%)
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v FEWANM T, TEAEARSE, BAET B RELHEMNFREZ
A. EH4 B. MAah# C. bz D. 34

2. —AK KT 18984 vaAT Pty HK=169 358y Am 7 S pul)  BRAL S, 12 IRAL &
R AP B AT R R R K A .
A. XTI B. Tl C. 571 D. ¥7F2

3. BRI AT B, B RS A i B
A. RTfe—% B, RTfk—% C. %0 D. 45

4. FHmEAANMEHHF SR EAEYG C  IKREHmRGIH,
A. 33 3| B. & &) C. & &)
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1. For a planar four bar linkage, the existence of a dead center is depends on whether the

B is collinear with the coupler.

A. Input link B. Output link C. Ground D. Rocker

2. A planar 4R linkage (K>1) is combined in series with a centric slider-crank mechanism
(K=1) , then the coefficient of travel speed variation (K) of the new mechanismis A

A. Bigger than 1 B. Smaller than 1 C. 1 D. 2

3. When designing a 4R linkage, the minimum transmission angle, y,i,, should be B

A. As small as possible ~ B. As big as possible  C. 0° D. 45°

4. A planar 4R linkage connects the rigid linksby C

A. Revolute joints B. higher pairs C. lower pairs
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I [ Lo Loy 1 L (5%°)
I : > 2 (3%)
Lao<: (2%)

(1) If AD i1s the longest bar, then
Lep + Lap < Lpe + Lag, Lap 2 Lpc
then
200+ L,p <300+ 250,L,p < 350
so that
300 < L,p < 350
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(2) ,'f', BC 1-,’ 2-'|:'. [ FF , il
2l

H

(2) If BC 1is the longest bar, then
Lep + Lpe < Lap + Lag, Lap = Lpc
then
200+ 300 < L,yp + 250,L,p < 300
so that
250 < L,p <300
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(1) 2L 2904, WA GE B IR EALE? XA, 78 EH AL 84 EHF &
BR LA 69 3 pF R — AN
(2) ML EHNM, W AT H IR EALE? XA, 78 EHIAN L 8L EHF &
BR LA 69 3 #F R — AN

B {=30mm
ﬁgf-i (1) }51//(7}@#‘1751’3]]44'—%‘, ) I~ 2 l 2 I5c=120mm
4 I B A+ -

(645°) e C

477777 o

3

Solution: (1) When member 1 is the active member, the mechanism does not
have a dead position
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(1) 2L 2904, WA GE B IR EALE? XA, 78 EH AL 84 EHF &
BR LA 69 3 pF R — AN
(2) ML EHNM, W AT H IR EALE? XA, 78 EHIAN L 8L EHF &
BR LA 69 3 #F R — AN

B L=30mm
fE: (2) ZAME2AH 4T, PHA S : : ﬁﬁ?
N EALE, Lt .sfL Ede T HH T (62) ART. = C
Solution: (2) When member 2 is used as the active member, the 277777 =

mechanism will have a dead center position, which is shown in the .

following figure

.\ r G G ( 8 /ﬁ\)
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(1) STTEELARMK =18, PLHEEBRALIMHN

- oK"l._ 0 I\
6 = 180° 3 — =0 (54)

BUHIREAS S #1805 B A TETE BB A C MMM LA C, |
C, ML |, BTGB BeHE K C M5 — MRIBAIE. IR, #EE 415
(a) BEEHPPRIK, BT AB 1KY

v=" (5%)
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When the travel speed ratio coefficient K = 1, the polar
clamping angle of the mechanism is:

K-1
k+1”> "

The mechanism does not have a sharp return property,
the fixed hinge point A should be on the line connecting
the two limit positions C; and C, of the movable hinge
point C. Determine the other limit position of the
movable hinge point C, as shown in Fig.

6 ~ 180°

AC, —AC, 70.84—61.76

lap = > = 5 = 4.54(mm) (59
AC; + AC, 70.84+61.76
lge = > = > = 66.3(mm) (54%)

Y =7° (54°)



